
KENDRIYA VIDYALAYA SITAPUR (First Shift) 

Ĥथम साǒविधक परȣ¢ा (First Periodic Test) 2023-24 

क¢ा- -8     ǒवषय : सामाǔजक ǒव£ान 

अविध: 90 िमनट                                                                                             अिधकतम अंक : 40                                                           

सामाÛय िनदȶश:General Instructions: 
The Question paper will be divided into A, B, C, D and E 
(i) Part A will carry 15 objective type questions of 1 mark each. All questions are compulsory.   
(ii) Part B will carry 4 short answer questions of 2 /3marks each. Answer should not exceed 100 
words each. All questions are compulsory. 
(iii) Part C will carry 2 long answer questions of 5 marks each. Answer should not exceed 350 
words each. All questions are compulsory. 
(v)  Part D will carry 1 passage - based questions of 3marks. Question is compulsory 
  
                               Part -A   -Multiple choice questions:- (1X15=15) 
I.Which one of the following is a human made resource? - 

िनàनिलǔखत मɅ से कौन सा मानव िनिम[त संसाधन है? 

a.medicine to treat cancer/ कɇ सर के इलाज के िलए दवा            b. Mountain/पव[त 

c.River/नदȣ                                                                                        d. Ocean/समुġ  
2. Which one of the following is not a factor of soil Formation? 

मदृा िनमा[ण मɅ कौन सा त×व सहायक नहȣं है ? 

a.Time/समय                   b.Soil texture /  मदृा Ĥकार         c. Organic matter/ जǒैवक पदाथ[  
3. Doctrine of Lapse devised the policy by____. गोद लेने पर रोक  पƨित ĤितपाǑदत कȧ  - 
a)Lord Dalhousie/लॉड[ डलहौजी             b.Mir Jafer/ मीर जाफर 

c.Mir Kasim/ मीर कािसम           d. Lord mountbatain/लॉड[ माउंटबेटन 

4.President of constituent Assembly - संǒवधान सभा के अÚय¢ - 

a. Rajendra Prasad/राजɅġ Ĥसाद          b.J.L Nehru /नेहǽ 

c. Shastri/शाƸी                     d.Dr.BR Ambedkar/ डा बीआर अंबेडकर 
5.Tipu Sultan stopped export through his kingdom in- 

टȣपू सुãतान ने अपने साĨाÏय मɅ åयापार पर Ĥितबंध लगाया - 
a.1764                         b.1772                              c.1785                         d.1790 
6.Who discovered the sea route to India in1498. 

   1498 मɅ भारत के समुġȣ माग[ कȧ खोज Ǒकसने कȧ  - 
a. Columbus/कोलंबस                                                 b.Dutch/ डच  

c.Vasco da Gama /वाèको डȣ गामा                d.Waren Hastings/ वॉरेन हेǔèटंÊस  
7. Constitution of a Nation contains- 

    राƶ के संǒवधान  मɅ िनǑहत है - 

a.Rules/िनयम             b.Laws/कानून                    c.both/दोनो              d.None /कोई नहȣं 
8.If a 13 year old child is working in a factory what is it called? 

  यǑद 13साल का कोई बÍचा फैÈĚȣ मɅ काय[ करता है तो वह कहलाएगा? 

a.Right to equality/समानता का अिधकार               b.Right to education/ िश¢ा का अिधकार 
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c.Child labour/बाल Įम                                           d. All of these/उपरोƠ सभी  
9.Rani Channamma was the ruler of-    रानी चेनàमा शासक थीं   -  

  a.Bengal/बंगाल                    b.kitoor/Ǒकटूर                    c.Agra/आगरा         d.Delhi/Ǒदãली  
10.Secularism means that the state promotes -पंथिनरप¢ेता मɅ राÏय Ĥो×साǑहत करता है -  

a.One religion/एक धम[।                    b.No religion/Ǒकसी धम[ को नहȣं  
c.Both A and B/  अ और ब दोनो       d. None of these/उपरोƠ मɅ से कोई नहȣं 
Ques 11 .Read carefully the assertion reason and select a correct option कथन कारण को Úयान से 
पढ़े और सहȣ ǒवकãप का चुनाव करे।(1+1+1) 

(a) assertion is correct but reason is wrong./कथन सहȣ है लेǑकन कारण गलत 

(b) assertion is wrong but reason is correct./ कथन गलत है लेǑकन कारण सहȣ है। 
(c)Both are correct and reason is correct explanation of assertion./दोनो सहȣ है और कारण   

अिभकथन कȧ सहȣ åयाÉया करता है।  
(d)Both are correct but reason is not correct explanation of of assertion. दोनो सहȣ है लेǑकन कथन 

कारण कȧ सहȣ  åयाÉया नहȣं करता है। 
(i)Assertion:- Ganga Brahmaputra Plain of India is an over populated region. 
Reason :-  Plains have fertile land and large amount of water available. 

कथन -गंगा Ħƺपुğ का मैदान अिधक जनसंÉया वाला ¢ेğ है। 
कारण: - मैदानी भाग अ×यिधक उपजाऊ और पानी Ĥचुर माğा मɅ उपलÞध है। 
(ii) Assertion : The practice of surveying also became common under the colonial administration. 
Reason:The effort was to know the Topography,the soil quality the flora fauna and the local 
histories. 

कथन: औपिनवेिशक Ĥशासन मɅ पय[वे¢ण का काय[ Ĥारंभ हुआ। 
कारण - ये ¢ेğ कȧ टोपोĒाफȧ,जैव ǒवǒवधता और èथानीय अतीत कȧ जानकारȣ ĤाƯ करने के िलए Ǒकया 
जाता था। 
(iii) Assertion: Indian constitution is the largest constitution in world . 
Reason:- It is drafted by a constituent Assembly. 

कथन: - भारत का संǒवधान ǒवƳ का सबसे बड़ा संǒवधान है। 
कारण: यह एक संǒवधान सभा Ʈारा  तैयार Ǒकया गया है। 
12( i). Define the term'Patent '?(1) 

     पेटɅट टम[ को पǐरभाǒषत करे? 
(ii)Define" Weathering "?(1) 

   अप¢य को पǐरभाǒषत कȧǔजए। 
State wheather true or false:-(1+1) 
iii.James mill divided Indian history into three periods -Hindu,Muslim, Christian. 

जàेस िमल ने भारत के इितहास को तीन भागɉ मɅ बाटा -Ǒहंद,ू मुǔèलम, ǑĐǔƱयन। 
iv.Maharaj Ranjeet Singh was the ruler of Punjab. 

महाराज रंजीतिसंह पंजाब के शासक थे। 
                          Part -B-Short answe type question(2+2+3+3=10) 
Question 13.What attract European trading companies to India? 
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                    यूरोपीय åयापाǐरक कंपनी भारत कȧ तरह Èयɉ आकǒष[त हुई?      (2) 
Question 14.Why does a democratic nation needs a constitution?(2) 

                    Ǒकसी भी लोकतांǒğक देश मɅ संǒवधान कȧ Èयɉ आवæयकता होती है ? 
Question 15.What is sustainable development?(3) 

                    सतत पोषणीय ǒवकास से Èया अिभĤाय है ? 
Question 17. Suggest three ways to conserve water?(3) 

                       जल संर¢ण के कोई तीन उपाय बताए? 
              Part  -C- Long Answer type Question (5+5=10) 
Question 18.Why did the British preserve official documents?(5) 

                    ǒĦǑटश सरकारȣ दèतावेजɉ को संरǔ¢त Èयो Ǒकया करते थे? 
Ques 19   .What you understand by Secularism?Will the Government intervene some religious  
group says that their religion allows them     as a practise infanticide?Give reasons for your 
answer?(3+2)  

पंथ िनरपे¢ता से Èया अिभĤाय है? यǑद Ǒकसी धम[ के लोग यह कहते है Ǒक उनका धम[ नवजात िशशुओं 
को मारने का छूट देता है। तो Èया सरकार Ǒकसी तरह का दखल देगी या नहȣं।अपने उƣर के समथ[न के 

कारण बताइए? 
                                           Part- D-      Source based Questions  
Read the paragraph carefully and give answer:-(1+1+1=3) 
Resources are generally classified into natural human made and human. Resources that are 
drawn from nature and use without much modification are called natural resources the air we 
breathe the water in our rivers and lakes the soil minerals are all natural resources when your this 
resources are free gift of nature and can we use directly in some cases tools and technology may 
be needed to use a natural resources in the best possible way. Natural resources can be broadly 
categorised into renewable and non renewable resources. 
Renewable resources are those which we get renewed or deplanished quickly. Non renewable 
resources are those which have a limited stock. 

पैराĒाफ को Úयान से पढ़े और उƣर दे। 
संसाधनɉ का मुÉय का वगȸकरण Ĥाकृितक, मानव िनिम[त और मानव के Ǿप मɅ Ǒकया जाता है। जो 
संसाधन Ĥकृित Ʈारा ĤाƯ होता है और थोड़ा है बहुत सशंोधन के साथ Ĥयोग Ǒकया जा सकता है उÛहɅ 
Ĥाकृितक संसाधन कहते हɇ जैसे जो वायु हम सांस लेते हɇ जल जो नǑदयɉ और तालाबɉ मɅ है िमÒटȣ खिनज 

यह सभी Ĥाकृितक संसाधन है। इनमɅ से बहुत से संसाधन Ĥकृित का उपहार है ǔजÛहɅ हम सीधे तौर पर 

Ĥयोग कर सकते हɇ तो कुछ का Ĥयोग कुछ उपकरणɉ और तकनीक कȧ मदद से और बेहतर तरȣके से Ǒकया 
जा सकता है। 
नवीकरणीय संसाधन उनको कहा जाता है ǔजÛहɅ तुरंत या पुनः ĤाƯ Ǒकया जा सकता है और अ 

नवीकरणीय संसाधन उÛहɅ कहा जाता है जो बहुत कम माğा मɅ उपलÞध है। 
i. What you understand by resources?(1) 

संसाधन से Èया अिभĤाय है? 
ii.Coal , petroleum and natural Gas are the example of______.(1) 

    कोयला,। पेĚोिलयम,Ĥाकृितक गैस__________उदाहरण है। 
iii.solar and wind energy are the example of_____resource.(1) 

    सौर और वायु ऊजा[ उदाहरण है_______ संसाधन के। 
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